
Имя: Ключ к правильным ответамОт числовой формы к развернутой(дроби)

Математика www.CommonCoreSheets.ru
1-10 93 87 80 73 67 60 53 47 40 33
11-15 27 20 13 7 0

Напишите каждое число в виде цифрового ряда.

об) 882,754 8×100+8×10+2+(7×1⁄10)+(5×1⁄100)+(4×1⁄1000)

1) 68,5 6×10+8+(5×1⁄10)

2) 711,94 7×100+1×10+1+(9×1⁄10)+(4×1⁄100)

3) 98,582 9×10+8+(5×1⁄10)+(8×1⁄100)+(2×1⁄1000)

4) 28,1 2×10+8+(1×1⁄10)

5) 2,8 2+(8×1⁄10)

6) 29,654 2×10+9+(6×1⁄10)+(5×1⁄100)+(4×1⁄1000)

7) 91,8 9×10+1+(8×1⁄10)

8) 87,961 8×10+7+(9×1⁄10)+(6×1⁄100)+(1×1⁄1000)

9) 771,845 7×100+7×10+1+(8×1⁄10)+(4×1⁄100)+(5×1⁄1000)

10) 2,282 2+(2×1⁄10)+(8×1⁄100)+(2×1⁄1000)

11) 614,844 6×100+1×10+4+(8×1⁄10)+(4×1⁄100)+(4×1⁄1000)

12) 11,5 1×10+1+(5×1⁄10)

13) 228,85 2×100+2×10+8+(8×1⁄10)+(5×1⁄100)

14) 42,39 4×10+2+(3×1⁄10)+(9×1⁄100)

15) 6,61 6+(6×1⁄10)+(1×1⁄100)
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